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101 2124yl 13,432 4,730 8,702
402t 2 RNESEs 13,432 4,730 8,702
SENMESSAXAAGARA
37,000& x2H x30 2,220
OSSR THMAAIL AlAE2Z] Q12 11,212
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01 2LHA HI 4,000 4,000 0
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01 =4I 216,100 167,900 48,200
OXSASAMAJAAMSHZ 216,100
—SE0lMEHXE =272 165,000& *300E 49,500
—YAEOMERMEZ RS
196,000& *100E 19,600
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-Jlz3 37,000 100 =1 3,700
— e 37,0003 15 «1H 555
—JIZHNZ22 4 EEE 100,000& x4 & «1H 400
201 L2 E ] 1,000 1,000 0
01 AR 2t eld| 1,000 1,000 0
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= 42,000
= 18,000
VL] 60,000 0 60,000
OSMESBIIZHE T M
30,000,000 *14! 30,000
= 21,000
= 9,000
OSMESEIIZZUE 28 HE
3,000,0002! 103 30,000
= 21,000
= 9,000
207 21K Y| 10,000 0 10,000
= 7,000
z 3,000
01 et A Y| 10,000 0 10,000
OSHIQHE ST ) 5 2 RIX 2
10,000,0002! %121 10,000
= 7,000
= 3,000
307 212+01 & 30,000 0 30,000
= 21,000
= 9,000
05 PI2teI et 30,000 0 30,000
OsMSIBHLsD 29 30,000
= 21,000
= 9,000
401 AlEH L2 THY] 62,000 0 62,000
= 43,400
= 18,600
01 Al H| 62,000 0 62,000
ONRYSED 2 HeHED &X
62,000,000 *14! 62,000
= 43,400
= 18,600
405 X+ &HF S| 167,000 0 167,000
= 116,900
= 50,100
01 R YSEH S| 167,000 0 167,000
OJIEE24IIH 2 1,700,0002 *105 17,000
= 11,900
= 5,100
OSZ2AZEI| 9 5% 25,000,0002 65 150,000
= 105,000
= 45,000
DM KR 866,396 3,540,717 N2,674,321
p 190,000
= 85,500
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402 212+ X201 & 475,000 600,000 A 125,000
) 190,000
= 85,500
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01 BIZtAI == 475,000 600,000 125,000
OFTADI= Dt== MAAIE SHUHSANY 475,000
p) 190,000
= 85,500
= 199,500
ALHERR ZE X 274,600 332,680 258,080
402 212+ X201 d 274,600 332,680 /58,080
01 BIZtA=E X 274,600 332,680 258,080
OAHE e K& 34,325,000 »20ha*40% 274,600
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402 BI2tX=01 & 46,176 62,400 AN16,224
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—SAESTHEEM) 7,000& *370ha*6 *40% 6,216
A=A e & HE M0IE 23 52,620 58,887 16,267
101 el A Hl 41,220 43,397 N2 77
04 JIZHZ2Z2NHSE+ 41,220 43,397 N2 7T
ONE AOIHE 22 (SYaR) 29,790
—Jl2=s 39,0003 187 3 21,879
—ReERgsE 39,0002 x43L x3& 5,031
—28= 2,880,000& 2,880
(OFSES] 70,0003 +32 »8H 1,680
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OAt Bt =2t 39,000& *32|*10H 1,170
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OLA=FE 24 39,000& =10 390
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